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QUESTION 1

A company wants to migrate end user applications to VMware App Volumes. The IT team creates five App Stacks using
a Windows desktop VM deployed from a golden master image used for all Horizon desktop pools. Some users
experience application failures with a few applications in some of the App Stacks. 

What can the IT team do to resolve these application issues? 

A. Update the App Volumes Agent in the golden master image, then delete and redeploy the Horizon desktops of the
users experiencing issues. 

B. Install a new copy of the same Windows operating system without any updates, patches, or service packs, and use it
as the App Volumes capture VM. 

C. Refresh the Horizon desktop VMs of the users experiencing the issues. 

D. Capture each application in a single App Stack and assign each user the correct application using Identity Manager. 

Correct Answer: A 

 

QUESTION 2

An architect is designing a solution for a customer who plans to grow its VDI environment. The design must allow for
scaling of the environment in incremental steps with predictable results. 

Which can the architect recommend for capacity management? 

A. Design using a pod and block architecture and verify the capacity of the configured block. Add as blocks needed. 

B. Design the environment around traditional all-flash SAN to ensure that there are no scaling issues. 

C. Design the environment using vSAN ready nodes. Add more nodes as needed. 

D. Design using servers that can accept 768GB of RAM so that there are no scaling issues. 

Correct Answer: A 

 

QUESTION 3

A customer reported that during maintenance activity, some users were unable to connect to assigned desktops and
received an error that the pool had no desktops available. Other users were able to connect to their assigned desktops
without issue. 

Which three reasons could be the cause of the failure? (Choose three.) 

A. SQL Server was down. 

B. VMware Composer Server was down. 

C. View Connection Server was down. 
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D. vCenter Server was down. 

E. App Volumes Manager Server was down. 

Correct Answer: CDE 

 

QUESTION 4

A company is implementing VMware Horizon View 7 solution. It has created four 500 linked-clone desktop pools to be
used by different departments and workers. The company\\'s VDI administrator noticed that Horizon View Composer is
showing in error state on the View Admin Web Console. During restart of the Composer service, the service failed to
start up again. A decision was made to migrate View Composer to a new server and preserve the linked-clone
information. 

What three steps are requires for the migration? (Choose three.) 

A. Install View Connection Server on the new machine. 

B. Create a new SQL database 

C. Migrate the RSA key constrainer. 

D. Configure Horizon View Composer to point to the existing SQL database. 

E. Install the VMware Horizon View Composer service. 

Correct Answer: CDE 

 

QUESTION 5

A company has asked an architect for assistance in reviewing its design plans for distributing a finance application to its
users with multiple RDS hosts using a custom load balancing script. What can the architect recommend for a script with
proper load return values to prevent overloading of an RDS host? 

A. Block connections to this RDS host at a load value of block. 

B. Allow connections to this RDS host at a load value of 0. 

C. Allow connections to this RDS host at a load value of allow. 

D. Block connections to this RDS host at a load value of 0. 

Correct Answer: A 

Reference: https://docs.vmware.com/en/VMware-Horizon-7/7.1/com.vmware.horizon-
view.administration.doc/GUID-7FC6E9D2-5D12-4590-BB30-188F5E87D8F9.html 
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